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HAR—/—II G 1004 K 1& 1 850 850 | EFE SRS
SOR—/S—I K 1004 E3 & 1 2,250 1,800 1,800 [f =& Skttt
N-TJLF AT 19 ASGL 1004% =AU R 58 4 7,800 9,200 7800 |k REMMAT A =ZEZHEE
UFIarka—)L 47ml DRAYHY R 5 6 27,000 27,000 |EESKXESH
UX I 4—FBAC 25ml DRAYHY R 5 4 19,500 19,500 |f =2k Stk S 4t
UX Il 4—FSED 29ml DRAYHY R 5 5 19,500 19,500 Jf =2k Stk S 4t
UX I < —X XTS-900A 20 L DRAYHY R b 17 11,340 11,340 =2 S kXS4t
UX T /3y4-BAC 21 L DRAYHY R 5 8 14,500 14,500 |f =2k Stk S 4t
UX I /%9%-SED 21 L DRAYHY R 5 9 14,500 14,500 |f =2k Stk S 4t
UX3Ei5%R-C 1LX5 DRAYHY R 5 2 12,960 12,960 |f =2k Stk S4t
AF4F—T 0 9u 1004% DRI R 5 47 7,500 7,500 |[fEE SRS
AF4F—T I 10u 10042 SAIYYR %5 1 10,800 10,800 [H= 2 Bk &4t
AFAT—TFx vy 1(BD724145) 10ml X5 DRAYHY R 5 11 7.040 7,040 |f= 2R Ltk St
AT AT—TF vy T (AF797144) 10ml X5 DRAYHY R 5 11 7.040 7,040 |f= 2R Ltk St
OCAEXvyFS B RSEH 1001& EHHELE 5 2 13,500 12,440 12,440 |[HEESEASH
OCAEF vy FRIFRER R 100 KL b 2 13,500 11,540 11,540 | EE R KX
4 AT —hST2 5@ KiHEE ] 2 2,900 2,680 2,680 |[HEESGEASH
RCRTFRRFEILH 10048 KHHEE ES 1 5,600 5,600 |HEEGEASHT
H LYK 100ml HEEEE ES 1 900 900 [t s Skt St
FALIRK 100ml HEEEE ES 1 900 900 [t s Sk St
JORTRIVNE 100ml HEEEE ES 1 900 900 [t s Sk St
ROTAHK 100ml HEEEE ES 1 540 540 |t E s Sk St
SKRIATAS 5ml X5 HEEEE r 2 2,750 2,750 |[HEEGHERA ST
J—RTyH— 25ml Eies =% 1 — = E
I—YYETILTERR 100ml MHEE & 2 2.100 2100 [BEEE B ST
INFHO—HA 10ml T—y E2N 1 2.700 2700 | == Sk e At
INFHO0— 4B 10ml T—y E2N 1 2.700 2700 | == Sk At
0.02MIEIEAIL S LK 2ml X10 S RAAYH A %5 2 1,360 1,360 |[ZIL DLy YA =FhBXE
APTTE Z-SLA 2ml X10 S RAAYH A %5 1 7,050 7,050 |7 L OLy Y XS =Fh B E
CAY)— 1 50ml SRAAYH X %5 10 2,670 2,670 |ZILILy Y BRAESH=FhHXKE
CAY)—> 1 45ml SRAAYH X %5 3 1,310 1,310 [ZILILy Y HASH=FhBXE
DEAR—ERE R4 2ml X6 S RAAYH A %5 1 12,960 12,960 | 7L DLy YRS =Fh A E
DEAX—BER RA 1.0ml X3 S RAAYH A %5 1 13,100 13,100 |ZILILy YRS =Eh X E
e-check Type-B XNN-100C 4.5ml X9 SRAYY R a5 8 137,600 137,600 8= mik X £t
A—LoAnr—) BERK 500m| SRAYYR b 1 2,620 2620 |7V IL v HA KM =F AL
3750 —)L IX- Ix 1ml X2 X5 SRAVYR % 1 8,600 8,600 [ZILIL v BRSH ZBHAXIE
3745 kO—JLN 1ml X10 SRAVYR % 2 10,120 10,120 |7 LIy Y ket = EHB X E
AR5 —4DL FFD-200A 5L SRAYYR 8 4 17,430 17,430 |#R &4t /\ S ERTIRE KPR
Z TS+ —4DL FFD-220A 2L DRAAHR ES 3 9,900 9,900 |#kRK 4t /\tHBRUMERTIEE EFT
AR5 —4DS FFS-800A 42ml % 3 SRAYYR 8 4 20,370 20,370 ¥R ¢t/ \ RS RT 2 & XA
ZRTRSAH—FBI FBT-200A 5L DRIV R %5 5 16,380 16,380 |#EX 4L/ \ I BUERTRE X
L+ —F11(RED700A) 1000ml X1 SRAAYI R 55 4 21,000 21,000 | &1t/ \EERTEE EFR
Z JL7RS A H(SLS210A) 500ml X3 S RAYH R %5 5 7,665 7,665 | =4t /\HEERTEE £
+)LH)—> CL-50 50ml SRAAYG R ES 12 7,350 7,350 | R S4t/\HEERTEE £
+)L/Sy% 1 18.31 EPK-300A 18.3 L SRAAYG R 55 32 4830 4,830 ¥k £t/ \ B ERT R E £
HARRIV,O—)L 1.0ml X2;EFE X3 DRI ES 1 13,640 13,640 |[7IL DLy XS =FFBXE
rOUARFTYIPT 1ml X10 SRAAYH X %5 4 3410 3410 |7 oLy X e =FhBXE
Y7 AL+ —k-DEAT— #7 R-1 5mIx2 R2 5mIx2| RAYHR %5 1 60,230 60,230 [Z LIy REH=FhBXE
HAYFTvHa+ LR 3077°1L(944-056) STUFA—5— ES 1 31,500 31,500 |fH = E Mk £t
/v Basic (945-309) STF A—5— ES 6 28,800 28,800 |t E E R kXS4
2% —Ahtvk (BG/Hct) 608 F 5077 1 (945-784) SO A—E— %5 6 57,600 57,600 |fHE RSt
R BN TR H(943-906) 100ml FUFA—E— a5 1 10,800 10,800 [ EE RSt
FDE/HOT =3 1(201) 10ml =g = 1 8,400 8,400 |[HEE RS
AT—TavAAIL 50ml HiEE i 3 1,620 1,620 |MEEE AR =4t
4 JLa—RECO/\WI7— 2L AT 5 29 11,600 11,600 [ = 2k 2Rt 24T
I a—REBER 150ml A&T a5 3 6,400 6,400 |[HEERHKASH
S IILa—RR%kER 100ml A&T a5 1 2,400 2400 |[HEESKASH
A47h0O Bil 1245 2miX6 LSIATAIVA ES 2 7,200 7,200 |EESEAEH
47k LQ T-Bil I R-1 60ml X 2 LSIATAIUR ES 8 2,090 2,090 |[HEESKEASH
47k LQ T-Bil I R-2 30ml X 2 LSIATAIUR ES 5 7,700 7,700 |f4 = Mk £t
A47rB LQ D-Bil I R-1 60ml X 2 LSIATAIUR ES 2 2,365 2,365 |[HEERKASH
47k LQ D-Bil I R-2 30ml X 2 LSIATAIUR ES 1 7,095 7,005 |t = Mk £t
47O LQ D-Bil (A) 45mlx 1 11.25ml X 1 LSIATAIVA #a 2 3,500 3500 [HEERKASH
> 4HbAlc SF (R1,R2) LSIATAIUR 55 1 = FEf
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>4 HbA1c(SF)R1 20ml X 3 LSIATATUR S 10 37,000 37,000 |t = E A1

> 7HbA1c(SF)R2 5ml x 3 LSIATAIV R 58 12 21,000 21,000 |fH = EmEXESH

H > HHbATc AV FE—)L 0.5mIX3X2 LSIATAIV R & 3 27,000 27,000 |fH = Z B XSt

H2YHbAlcF %) TL—48— 0.8mIX3X2 LSIATAIV R & 1 22,800 22,800 |fH = E Mk St
FHTA—h4/X TPI RI 50mIX2 hAI R 5 12 1,960 1,960 | =LK1
FHTA—bH4/X TPI R2 30mIX2 hAI R 5 12 1,540 1540 |[HEZEL KRS
FHTA—A4/ZX ALBI RI 60mIX2 hAI R 5 10 1,980 1,980 | EFESEA ST
FHTA—h4/X ALBI R2 30mIX2 hAI R 5 10 1,620 1,620 | M= EESEA ST
F7HFA—kAA/ R CRE-II plus E(I )1I) 52mIX2  18miX2 HA/ R %5 11 15,060 15,060 |7 ILILy YRS =Fh X E
THOTA—AA/R GL (1)) 52miX2  13mIX2 AR ES 2 13,330 13,330 |ZIL DLy Y RS =Fh X E
THTFA—AA/R IP-KI HE(IXI) 52miX2  18mIX2 AR ES 2 17,330 17,330 |ZIL DLy Y RS =Fh X E
THFA—AA/Z UA-T 3E(1)1) 52miX2  18mIX2 AR ES 6 9,330 9,330 |ZILILy YA S =Fh X IE
THFA—AA/Z UN-T 3E(1)1) 52mIX2  13mIX2 AR ES 11 10,670 10,670 |ZILILy YRS =Fh X E
MmETILFFv)TL—5— 3miX4 AR Vi 4 6,500 6,500 |ZILILy YA S =FhHXIE
WER-7IISUZEME 5miX6 hAIR b 1 9,000 9,000 [HEESKEASH

ICTH I NEA)1—ay 100mIX5 X/ UAT4HIL a5 10 35,500 35,500 | E E LSt

ICTYZ7LY AV a—ay 1L /oA T4HIL a5 18 20,400 20,400 | E E LSt
ISEX+!TL—4S(Mm;ER) (10mIX5) X2 Xy /A T4HIL a5 3 16,900 16,900 |[HEE KX
ISEX+)TL—%U(RA) (10mIX5) X2 X /AT 4HIL ] 3 16,900 16,900 |#= 2 Sk =4t

ISEE 4% 12MLX10 150ml X/ AT 4hIL ] 5 17,940 17,940 |fE S =1t

Maxpia 14(7 LA %H) 500MLX5 X/ AT 4hIL ] 6 13,800 13,800 |fH= 2 Sk =4t

Maxpia 3(E&14HEH) 500MLX5 /oA TahIL a5 6 20,460 20,460 | E E LSt

Maxpia G (') —A4—/\—[ElE % H) 500mIX5 X/ UAT4HIL & 4 36,300 36,300 |t = Mk &1t

Maxpia R (1884875 0%) 500ml X/ UAT4HIL 1& 5 4,360 4,360 |[HEERGEASH

AFF X )N—RIEHR 1L X/ UAT4HIL a5 8 7,960 7,960 |fHE kSt

AA>aL ks 4mIX15 X/ AT 4hIL ] 2 27,700 27,700 | EE LS4t

AFFv— 100ml X/ UAT4HIL ZS 1 — |FER

A+ Fr—CBERAL) 1L X/ UAT4HIL ZS 3 9,300 9,300 |[HEESGEAESH

AR —R {21 HHDL/LDL-C 2miX4 BIAT VIR ES 3 6,840 6,840 |EE AKX ST
IF)LF7ILT—)L 100mgH+)TL—4— 3ml S—AUR Vi 8 5,340 5340 |ZIL Ly Y BAESH=Fh X E
IFIL7ILa—IL HIGHa FE—)L 3ml S—AUR Vi 9 5,340 5340 |[ZIL DLy MRS =EFEXE
IFIL7ILa—IL LOWaLkE—)L 3ml S—AUR Vi 10 5,340 5340 |[ZIL DLy MRS =FFEXE
IFLTZILI—)IL ElEYITL—4— 3ml L—AUR Vi 9 5,340 5340 |[ZIL DLy RS =EFEXE
ISYRIFILTILO—LTvEA 50ml S—AUR Vi 3 49,350 49,350 |7 L OLy Y XS =EhBXE
F7—ILk EC 5miX1 L /T AR r 1 2,050 2,050 [HEESKEASHT

Mg {24 & 10mIX1 <) TAR & 4 1,580 1,580 | M= E AR =4t
F—ILkavkO—)L LR 1 5miIX10 /T AR a5 4 15,940 15,940 [HEE S SHt
F—IJLhavka—)L LAJL CRP I 5miIX10 /T AR ] 4 18,310 18,310 =X Skt

F¥215RF—k Call 7170 R-1 60mIX4 L /T AR a5 2 8,000 8,000 [#HEE RS

F¥215AA—k Call 7170 R-2 30miX4 L /TARR a5 2 6,200 6,200 [ EE RS

Ca I 1BER 10mIX1 /T AR ] 2 950 950 | EE AR S4t

A9t —kHA ALP-JSI 7170 R-1 60mIX4 /T AR ] 6 8,800 8,800 [ EE RS

St —kHA ALP-JSI 7170 R-2 30mIX4 /T AR ] 5 10,700 10,700 [ =X Skt

DA 9HA—RRA ALT-JS 7170 R-1 60mIX4 L/T AR ] 6 8,580 8,580 |[HEE RS

DA 9HA—RRA ALT-JS 7170 R-2 30mIX4 L /T AR i 5 8,650 8,650 |[HEE RS
HAvGA—kRA AMY-5  7170R-1 60mIX4 L /T AR i 3 24,000 24,000 | EESKASH
HA9GA—rRA AMY-5  7170R-2 30mIX4 L /T AR i 2 48,000 48,000 |fH'E E Ak 4

DA 9HA—RRA AST-JS 7170 R-1 60mIX4 L /T AR i 6 9,410 9410 [EE RS

DA 9HA—RRA AST-JS 7170 R-2 30mIX4 L /T AR i 5 7.410 7,410 | = Emk St

A4 —r*A CHE 7170 R-1 60mIX4 L /T AR i 3 5,880 5,880 |t E E Mk 4
J4y9F—bRA GCHE 7170R-2 30mIix4 VITARE Fi 4 11,060 11,060 [= = Skt 24t
JAv9F—bRF Fe 7020 R-1 40mIX2 ITRE 8 4 8,020 8,020 |E Mk A =4t
JAv9F—bRF Fe 7020 R-2 20mIX2 ITRE = 4 6,690 6,690 |E KMk =4t
HAvHF—r+#A LD-JS 7170 R-1 60mIX4 /TR A 5 4,260 4260 |[7ILOLyY XS =EFBEXE
HAvhF—r#A LD-JS 7170 R-2 30mIiX4 /TR A 3 4,700 4700 [7ILOLyY XS =EFBXE
DA9IA— A Mg 7170R-1 60mIX2 L /T AR i 4 3,500 3,500 |fHE E Ak E4
DA9IA— A Mg 7170R-2 60mIX2 L /T AR i 4 3,500 3,500 |fHE E Ak 4

DA 94 —kRA UBC  7170R-1 60mIX4 L IT AR 8 1 28,120 — |FER

DA 94 —kRA UBC  7170R-2 30mIiX4 /T AR #a 2 16,390 — |FER

L5 FRF—k CKJST170 Ri 40mIX4 /T AR #a 2 22,000 22,000 |t = EE RSt

L5 FRF—k CKJST170 R2 20mIX2 /T AR #a 1 10,890 10,890 |HEESKEAESH
BI85 # FAFEAZ 4 (FE,UIBC 3L3\) 10mIX1 /T AR #a 2 570 570 | EE RS

THYEYE G-GTJ(7170)5K 21 60mIX4 Bk #a 4 13,000 7,930 7,930 |t = Mk £t

THYEYR G-GTJ(7170)5K 22 20mIX4 Bk 8 5 24,500 15,000 15,000 [HEE RIS

2/8




TH2FEEREARDOEA

RIERER
ZERIUCIHDEREE—
KEZESHBETA
) . T - — — — : : - : SRS AT ARE
s E TS & oF =1} = T4 7." T)ijjﬂ—**itﬁ*i :_l'-t _'IZZX ~ ) = S 4 3 3
i s s A wi| prue |FREHITL 2 R (RRSHART > | B e i RS SR e msenmstan | TERREM s mie AL

EE/TZ$‘\4'J7PLUS 1mlX3 BEERIEE ES 1 7.000 6.800 7 e T O A
TH3F—L LDL-CARI 45miIX2 BRHIAT YT A 5 1 =700 9500 6.800 ]*fff”!." *3211
TH3F—L LDL-CAR? 15mIX2 BIAT VIR 3 " 1000 12500 12,800 |48 5 & *it,fji
7435 —L TCI A R 45mix4 BIAT VIR Vi 8 8.640 : 13,200 JAH SR PRt
7_:5'5+—L TCOI A R2 15mIX4 BIAT VIR pa 8 8,640 8,640 *Et.f?ixxfrf {%if&
7_:’5'57-—L TGI A Ri 45mIX4 BIAT VIR i 8 11,300 = %kzt.zjix;g’rﬁ%irg
7_:5'5+—L TGI A R? 15mIX4 BIAT VIR pa 8 12,360 11,300 *Et.f?ix;ilrffiir‘g
T@%f—*%ﬁﬁﬂﬁﬁﬁag 3miX6 BIAT VIR 1& 2 14,140 — *3211;{%’7{;‘%&%
A8 —F HDL-CA R~ 45mIX2 BEAT VIR E 5 10,000 9000 14,140 *itfnix;ﬁ’if?iifﬁ
i’)‘b'l'\lJ_—F HDL-CA R-2 15mIX2 BHAT YT R F 6 s T 9,000 ]¢ Efjnnn ;*Et.fji
EEFS5AY LavbO—)L QNINHS) 3ml* 2 TS b 1 Y 1,900 ' e 1$E;L§enn *iﬁTim 3
ELRFSA44 LRASAF NH3-WI-Q 504K S fiEE Z 11 11'880 o ﬁ}%a *ifjiiif'«%fﬁ
47kB CRP Ri 60mIX2 LSIATAITUR ES 1 ' 2,60 11,880 ?%ﬁfﬂ#g%a%m
{7F0_CRP R2 60mIX2 LSIATATUR = " 600 2,600 | E R mHA R
A7FA_CRP-EX 52ml X 2.52ml X 2 LSAFATUR % 2 11,900 11900 f# & F ik A £t
{7 FO_CRP-EX (LSB8-80B8) 20ml X 1, 20ml X 1 LSATAIUR 3 2 17299 17290 WER G
A7+ CRPEvYIL—5—T 2ml LSIATAIVR b 3 22'660 e j$5%f :fiz*i
7—*THh HBsAg QT7 vt A 1007 X~ TRYR S8y 5 5 34'?)00 e e
F—%75k HBsAg QTX¥JIL—% TRy v/ % 2 11'780 34,000 IGE R M
775k HBsAgALFA—IL FRIRS TRy % i 5'900 LLI00 e Z it it
7—%7 5k HOVF v 1007 R~ FRIRS TRy % 5 80,0 5 2900 (B Rt R
7—*7F HOVEXUIL—5 TRYFS w8y E 2 5'980 20000 IR LI SM
775k HOVAZRE—L FRIRS TRy % 2 5'908 200 WE e LR
7—*7 5k TSHFvUIL—F TRYFS xRy 5 2 5 SR Bl S B
7—%7 ok ALNTEE 7 vEd 1007 X~ FRYRS TR % 5 1139 11700 1A E Rt ARHL
F—%75F AILAREESF N IL—F FRIRS TRy % 2 3?’30" 78000 WS Z At
T—XTHk INFI—NTvtA 1007 R b TRy v = 2 59'080 B jq’E%? :fitf*i
7—%70F LTI NEYITL—F FRIFS v/ 3 2 Y 0 59.000 |AE R Skt
7—*7 0k NATOBTvEA 1007 XK FRYFS w8y % 17 77’700 14700 R R AR e
7—%55F NLTOBEYIIL—F FRIFS v/ 5 3 11'000 S s
F—%5 ok Tz=r AT v 1007 XK FRIR SR 5 i 5000 S e e
%ok D h Ao AT —F FRFS xR 5 1 782%0 S S
F—%5F 9z ILEA— LT oA 1007 XK FRFS xR % 1 L1 i s
F—%7 5k I/ LB LEX)IL—R FRvFS vy 5 i Z?,ooo /8000 (BT Mb RS
T—X70F JTUFUT A 1007 2+ TRYRS w8y 3 3 0'(7)00 1100 e et
F—%79k J1)FoENIIL—F FRvFS vy 5 2 11' > 10000 (BT Mb RS
F—FTFIk 7Y—T37vtA 1007 Rk VA AYS %5 17 70 L0 ﬁi%f :Etf*i
F—%70F JU—TsxkrIIL—% FRyRS R % 2 s 21000 BT Mb RS
T7—XTOk JU—=T47vtA 1007 Rk VA AYS %5 17 70 L0 ﬁi%f :itf*i
7%=k J)—Taxv)IL—5GCRE) FRIR SR 5 2 s el et
T—%70F JO50F 7oA 1007 Rk TRYrS w8y 3 4 80’(7)00 e
F7—%50F JO55F N IIL—F TRy % 3 T > R S
F—YTUL TSH Fytd 1007 Rk i o AN i 17 59’(7)80 o I¢E%? :Et’z*i
7—’{7‘-% TSH avka—)L VA ZAYS 5 1 900 22000 1¢E§%f 'fit.i*i
%7/117\ WFIVkE-L T A7FR (5ml x3)x 4 VA A ] 2 2593 o ?¢E§%§:§ ﬁ:it.zili
HUA—2 GER BB 975miX4 TRYFS w8y % 6 ggggo e e
RIEE TR 975miX4 FRvFS vy 3 6 18’008 e
TURIA—T_ \ 975mIX4 TRy w8y 5 6 36,000 Siatatis
7\1:!—7:*/7‘-493:‘/’75&‘ 25ml VA A 5 2 y 26,000 WE;%;?:'? afit-n*i
75‘*/7 9 0—LHilgG(51)—2)(BB4092) 10ml ALATHA/R T 1 S/ 2.700 WE;%?:'? a&t-%*i
#2 2=~ (PeG)BBI060) 10ml ALIATHA/R r 1 1:1;’120 L WE%E‘.’ afit.f*i
Li #¢)7L—5— 10ml X3 ARy 8 2 7,000 430 R e
L vk 10mIX3 %2 ZXT o 5 2 9,000 7.000 R RH LY 22X /E
L TR/% Li FybI 20ml+20ml RRTY Fi 21 58,100 T afit'z*ixji/TJgiE
t;f7 NARYR—)LFp!)TL—E—(Low:7.5ml High:5.0m) |14k BKATAAHIL ] 3 ; b Aﬁ:atﬂixxfry;iﬁrg
£T47 NARYR—)LEBEI MA—)L 5ml X 3;EFE BAKATAHIL 5 4 joan o %¢§§%Zu:: aiit-%*i
747 NAXRYRF—)L(D18mix1 @18mix1) |[1tvhk BKATAHIL F5 4 23.900 22,000 Wizﬁf ﬁ?it.fﬁ
TETEE s e = - 119,000 119,000 WE%E’ ﬁfitz?i
RPRIZHE S GEE) 0.5mIX1 TR & 1 11100 11700 ?;ﬁm s
TPAbIFE—IL 2mIX3X2 7 Tt
TPALEEAE R 0.5mIX2 ;jgig El ? 11700 17100 R R HARE
SST?J':Lﬁ _ 150[=] hay F 1 4.600 — *ﬁ Ot 2
SSTHEBBIEIMO—)L Tml Ay % i 2.820 RS
POETA—PITE X2 ERILE = i 2,160 ' At e

] 2160 |BEAEHRXTVERE
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ZERNICADEREU S
KEZESHBETA
G o — = - : - - . - MR REE
S nn% IR o [Eera=—1 Hiitz:*i)‘T'f‘t'T T)le/‘y*j-**it%*i :_l'-t'zéf Tt R XY %f_"' = o3 Ul . R 3|
e i e B PEME |7 gk e e T e s i e L&

YhN— iz =5 =
5T OVA = o PR 5 2 2640 2370 2370 |RE AR R AT
il MRSA AR 100] RS B i 2,600 2.370 230 (e E RS
/0N BTAR [ 52 100l EEY % o i 1,900 1.780 1.780 ]EFE;E? i
AN —4FAF MBL = 10E EEiL= 3 2 500 e ] 1 E%? %Etzd:
ESBL/MBLRY -9 TR 535 * 2 TR ES 3 ; 790 : . 1,780 | EE A %kitz:.dzi _
A5 AT 17 DHLEFIEH 201K SEAE = . oG 70 [ZNILy S AR = R BXIE
0.45% 78 & 1K (1000ML) ES EA A 21— = > : 1,200 [P Ly S A 2t = B SR
/A7 992 GNREA—F 208 EAA)a— 5 7 26300 1400 B PRt St
SA722 GPREA—F 208 EAA)a— % 3 28,300 26,500 (B R iR Aol
13T 552 NHRIEA—F 204K EAA)a— 5 2 28,300 28200 Iq’iffi.“ *3211
AT 52 YSTREA—F 204% EA A q— = i ' 26,300 [ E R A At
AT IR TN —F_AST-N22] 200k B A 1= g : 28,300 26,300 [ E R A At
AT UER RN —F_AST-N228 200k B A 12— g : 28,300 26,300 [ E R A At
AT BB RN —F_AST-N229 200k B A 21— g : 28,300 26,300 [ E R A At
ATy D2EBEN—F AST-N268 201k B A 12— g : 28,300 26,300 [ E R A At
NATYD2BZMEN—F AST-N269 20%K EAAJz— 3 3 28,300 28,300 ]*E%f %Et.fi
ATy BEEN—F AST-N309 204K B A 1 g ; 28,300 28,300 [ E R At
ATy BEEN—F AST-P595 204K B A 1 g ; 28,300 28,300 [ E R A K 2t
AT voIBEEN—F AST-P596 204K B A 1 g n 28,300 28,300 [ E R A K 2t
AT voIBEEN—F AST-P597 204K B A 1 g ; 28,300 28,300 [ E R At
AT voIBEEN—F AST-P625 204K B A 1 g ; 28,300 28,300 [#RE S AR L XA
AT voIBEEN—F AST-STOI 204K B A 1 g ; :8'300 28,300 [ IR L XA
7FA/5F002 201K ZEVITY % 2 2’300 .-
SOUE7CAN/Xyas d— I EAIB S BIEH) | 204K I SE TN 1 650 3,650 [ S AR 4t
3"3:[/-|‘H%9€i%ﬂi‘,(4351169) 20*& E;K/\/jbpﬁ—",f\y#*/\/*/ ’*'E 1 3'600 3’600 ]*E%HZ: ffit.%*i
/3y JEEE (IND) 30ml Ayheya—a— X 2 2,500 2,500 ]*Eﬁff ::ﬁf*i
ESBL-CAZ/CVA 51X2 KL r 1 2,000 :'228 20 I$Eiff :fit.z*i
ESBL-CTX/CVA 51X2 E p= " 2000 820 }’840 HE R
BT 2D A 51x2 EHLE B 1 550 i s e
Y—F277 =35 1004 LS % i 8,700 8.400 pa e
-t:ZDT:(TDZszbiF‘yF 50[E] FHHEE ] 2 23’000 21’600 £a0 ]q’..%%? :titf_*i
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